workglovies.

ASSEMBLY
GUIDL

ALB I 0 N De5k|ng Info@workstories.com

+44(0)20 3735 5224

Sit-Stand X workstories.com




ALBiON

hardware tool required

Ve e Pozi screw driver
per position 4mm allen key

(Optional

Cable Tray

Hanging Brackets) Electric
Control Box

Sheet Metal Beam

Beam

Cable Clip
*CRITICAL**

use oney The MIBXT15 MM

BOLTS SUPPLIED TO ENSURE
CORRECT OPERATION

OF THE ANTI-COLLISION
FUNCTION IN THE
ACTUATORS

(Optional
Cable Tray)

Electric Upright Pack\

Foot Pack




ALBiON

ASSEMBLY PROCEDURE - LINAK ELECTRIC ACTUATOR PACK
Fix the feet onto bottom of the actuators using bolts supplied in foot pack

Stand the leg assemblies up and attach the sheet metal beam and top hats with M6 x 15mm bolts
supplied in the fittings kit

*NOTE - it is critical that only the supplied bolts are used to ensure the correct operation of the col-
lision detection function within the actuators*

Ensure that all bolts are tightened securely to maintain desk stability

«  Offer the electric control box up into the beam at the centre point, insert and bend tab to
secure

. Connect each actuator to the control box with the motor cables and insert the control switch be-
fore installing the mains power cable. Beam cable clips can be fitted to tidy up loose or hanging
cables

If fitting the optional cable tray, slot the hanging brackets into the corresponding slots and
secure with screws provided in the cross rails shown

Place the desktop onto the frame and secure with choice of bolts or screws supplied, ensuring that
the desktop is also laminated to the beam with the 0.75” self-tapping screws included in the fitting
kit

Click the control switch bracket into the switch and secure to the underside of the desktop in
the desired location

On the first start-up, it is necessary to calibrate the actuators by holding the ‘down’ button on the
control switch for 5 seconds after the frame reaches the bottom of its stroke



ALBiON

bench | atuitss

hardware tool required
Ix “bench” fitting kit 4mm & 5mm Pozi screw driver
per back-to-back allen key

ACTUATOR SUB-ASSEMBLY PROCEDURE

- Lay the actuators down on a flat surface with the housings pointing upwards

- Slide the collar mouldings over the actuators

- Orientate the quick release mouldings so that the grub screw bosses are directed towards each
other

« Fixthe quick release mouldings to the bottom of the actuators as shown, using the M6 x 15 connec-
tor bolts provided

NOTE ORIENTATION
OF MOTOR HOUSINGS

NOTE ORIENTATION
OF COLLAR MOULDINGS

QUICK RELEASE
MOULDING

GRUB SCREW

BOSSES d @i\_



ALBiON

INSERTING THE ACTUATOR SUB-ASSEMBLY INTO THE LEG FRAME
- Slide the collar moulding onto actuator body before attaching the quick release moulding
«  Ensure grub screw is fully wound in before sliding actuator into the leg frame

- Once actuator assembly has ben lowered into leg frame, insert the allen key into the frame and un-
wind grub screw to engge — DO NOT OVERTIGHTEN

- Removal is a reversal of the insertion procedure

COLLAR MOULDING
CLICKS INTO THIS RECESS
WHEN ORIENTATED CORRECTLY

COLLAR
MOULDING

2. ENSURE GRUB SCREW IS FULLY WOUND
IN BEFORE SLIDING ACTUATOR INTO
THE LEG FRAME.

L

3. ONCE ACTUATOR ASSEMBLY HAS BEEN
LOWERED INTO LEG FRAME, INSERT
THE ALLEN KEY INTO THE FRAME AND
UN-WIND GRUB SCREW TO ENGAGE.

- DO NOT OVERTIGHTEN!

4. REMOVAL IS A REVERSAL OF THE
INSERTION PROCEDURE



ALBiON

Top Hat
- Sheet Metal Beam —CRTICAL
o
e _:"Q““x‘ﬁ- Electric
1 Control Box Beam USE ONLY THE

S Cable Clip

Méx15mm

BOLTS SUPPLIED TO ENSURE
CORRECT OPERATION

OF THE COLLISION DETECTION
FUNCTION IN THE ACTUATORS

Electric Acfuafor\ T

a

Collar Moulding —— ]

Quick Release

Fiﬂing\

= Lower Length Pack
1-.-—:‘;«‘*_"“2::4_\

R

leg Pack\

Levelling Adjuster

Hole for Actuator
Engagement on
Inside of Leg Frames




ALBiON

LOWER STRUCTURE

« Insert levelling adjusters into bottom of each leg frame

. Stand leg frames up and connect the lower length pack to inside of each leg frame with M8 x 20
bolts

+  Move the assembly into its final position and level as necessary using the levelling adjusters

ACTUATORS

- The actuator sub-assemblies should be constructed following the separate instructions contained
within the actuator pack

- Slide the actuator assemblies into the legs, with the motor housings pointing towards the centre of
the desk

- Slide the collar mouldings down the actuators until they are fully engaged into the top of the leg
frame

- Insert the 3mm allen key into the hole at the bottom of the leg, and undo the grub screw to engage

UPPER STRUCTURE
« Attach the sheet metal beam and top hats to the top of the actuators with M6 x 15mm bolts supplied

*NOTE - it is critical that only the supplied bolts are used to ensure the correct operation of the col-
lision detection function within the actuators*

«  Ensure that all bolts are tightened securely to maintain desk stability

. Offer the electric control box up into the beam at the centre point, insert and slide along

« Connect each actuator to the control box with the motor cables and insert into the control switch
before installing the mains power cable. Beam cable clips can be fitted to tidy up loose or hanging
cables

- Place the desktop onto the frame and secure with choice of bolts or screws supplied, ensuring that
the desktop is also laminated to the beam with the 0.75” self-tapping screws included in the fitting
kit

« Click the control switch bracket into the switch and secure to the underside of the desktop in the
desired location

«  Onfirst start-up it is necessary to calibrate the actuators by holding the “down” button on the control
switch for 5 seconds after the frame reaches the bottom of its stroke



ALBiON

calle Trags (it

Locating Slots
for full length
lower cable tray lid

Cable Tray
Hanging Bracket

Fit cable tray hanging
bracket into these slots
Locating Slots and secure with no.8 x 3/4"
for standard - screws provided
lower cable tray lid

Lower Length

T
# g . Pack
T T “"‘“’.—“-‘?7-‘-;‘;-
e T
- esany
T
i
N Spacer

UPPER CABLE TRAY

- Slot cable tray hanging brackets into corresponding slots in sheet metal beam as shown, depend-
ing on the thickness of coating you may need to gently locate home with a soft or rubber mallet.
Secure in place with no.8 x 3/4” screws supplies

« Locate cable tray by hooking onto cable tray bracket, note the cable tray can be hung in the
centre or at the back

LOWER CABLE TRAY
« Place spacers over m8 x 100 bolts, loosely tighten bolts and spacers in holes in lower length pack,
fit lower cable tray using keyhole slots in the bottom face

« FitLower cable tray covers into slots in the lower length pack and hinge down to rest on lower cable
tray

- The full-length tray covers have a snap off section to allow cable chains to be fitted at either end.
Simply remove the snap off section to reveal the threaded inserts in the main tray section, to which
the optional chains can be fitted



W5

SHOWROOM
Parchment House

13 Northburgh Street
London EC1V 0JP
CONTACT

Info@workstories.com
020 3735 5224

workstories.com



